0

| Semester 3 Year LL.B. Examination, December 2019
CONTRACT - |
(2018 and 2019 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

. One essay type question and one problem or one short
note are compulsory from each Unit.

. Figures to the right indicate marks.

. Answers should be written either in English or Kannada
completely.
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Q. No. 1. a) Define acceptance and what is the effect of acceptance ? Marks : 10
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Define consideration and what are the essentials of a valid
consideration ?
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"A” has selected one book which is displayed in a departmental

store for the purpose of purchase. But manager of the departmental

store refused to sell the book. “A” has filed a suit against the

manager for the breach of contract . Decide. Marks : 6
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“A" has invited “B” for a dinner and “B" has accepted the invitation.
Subsequently “B" could not attend the dinner. “A" has filed a suit
against "B" to recover the dinner expenses. Can “A" recover the
dinner expenses ?
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Explain the provisions relating to capacity to contract. Marks : 10
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Explain the effect of mistake on the legality of contract.
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“A” and “B” entered an agreement before the marriage. In the
agreement they agreed to live separately after the marriage.

Is it a valid agreement ?
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“A” and “B" have entered an agreement. According to the
agreement “A" must pay 5,000 Rs. to “B" and “B" must settle
the marriage between "A” and “C" a lady. Whether agreement
is enforceable ?
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“An agreement in restraint of trade is void ". Discuss. Marks :
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Explain the provisions relating to appropriation of payment.
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"A” agrees to pay 5,000 Rs. to “B" if B's house is destroyed. “B”

has no house. Is it a valid contract ? Marks :
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“A” a famous singer agreed to sing in a programme arranged
by “B”. But before the programme “A” died. Can “B” compel “C"
the son of “A" to sing in the pxogramme ?
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Who is a “finder of the goods” and what are the duties of a
finder of the goods ?
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Explain “Ordinary damages” and “Special damages” with help
of decided cases.
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“A" has supplied one mobile to “B” who is a minor. Can “A” recover
the price of the mobile from “B" 2 Marks : 6
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“A" a famous dancer has agreed to dance in a festival conducted
by “B”. But due to illhealth “A” could not dance. “B" filed a suit
against "A" for breach of contract. Decide.

“ = s —_ f vt € T Tt ‘

WW OXFRAT ST FIFRTeS oo e
o 3,38 A 53 pas - QY p—— - =

DSFICID WABRORTD . ¢T38 @'Y embend

\ “ »
SOTEMN WS

Explain the contracts which can be specifically enforced. Marks : 10
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Explain preventive relief and how the preventive relief will
be granted ?
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Write a short note on : Marks : 6
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Recovery of movable property.
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Cancellation of an instrument.
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First Semester 3 Year LL.B. Examination, June/July 2019
CONTRACT -1 (2018 Batch)

Duration : 3 Hours Max. Marks :

Instructions : 1. Answer all five Units.
2. One essay type question and short note/problem
is compulsory from each Unit.
3. Figures to the right indicate marks.
4. Answer should be written either in English or Kannada
completely.

Q. No. 1. (a) “All contracts are agreements, but all agreements are not
necessarily contracts”. Explain. Marks :
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“An agreement without consideration is void”. Explain with
exceptions, if any.
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‘A’ made a proposal to ‘B’ in June 2017. ‘B’ accepted it in

August 2018. Is it valid acceptance ? Marks : 6
‘e R 2o FRRBIoD, ‘WK wed* 2017

A clu’i) ‘“"ﬁ?i‘ 2018 d"’"‘ :)_f'ﬁf)wszc.). 2l

268 éwmsd'*"

o o
OR/Uﬁwu

‘A’ goes to a departmental store and picks an article with

price tag. When he goes to the counter to pay the price, the
shopkeeper refuses to sell the article. ‘A’ wants to sue

shopkeeper for breach of contract. Advise ‘A’. Marks : 6
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Q. No. 2. (a)Discuss the legal effects of minor's agreement. Marks : 10
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“An agreement in restraint of trade is void”. Explain with
exceptions, if any. Marks : 10
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‘A’ contracts with ‘B’ to kill ‘C’ for a sum of rupees one lakh.

‘B’ kills ‘C'. ‘A’ refuses to pay. Can ‘B’ recover the amount ?

Decide. Marks : 6
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Anand is a spiritual advisor. Bhaskar, an old Hindu man, is

a disciple of Anand. Anand advises Bhaskar to gift away the

whole of his property to him with a view to secure benefits

to his soul in the next world. Bhaskar makes gift of whole
of his property to Anand. Later Bhaskar wants to cancel

this gift. Can he do so ? Advise Bhaskar.
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Q. No. 3. (a)Explain in brief the various modes of discharge of
contracts. Marks : 10
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Explain the law relating to time and place of performance
of contract. Marks : 10
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Rama promised to marry Seeta after the death of his father.
But he married Suma when his father was alive. Seeta
wants to sue Rama for breach of contract. Advise Seeta. @ Marks : 6
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Umesh has agreed to sell his house to Ganesh for rupees
10 lakhs. But that house was destroyed by an accidental fire
before Umesh could sell it to Ganesh. Ganesh institutes
a suit against Umesh for breach of contract. Decide.
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Q. No. 4. (a) What are the remedies available for a breach of contract ?
Explain. Marks : 10
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Explain general and special damages with the help of
decided cases. Marks : 10
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(b) ‘A’ leaves an article at ‘B's house by mistake. Can ‘A’
recover the article from ‘B' ? Decide. Marks : 6
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‘A’ contracts to supply goods on a specified day to ‘B'.

A does not supply on that day, as a consequence of it ‘B’

has to close the factory. Advise remedies available to ‘B'. Marks : 6
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Q. No. 5. (a) What is meant by specific performance ? Who can claim it ?
Marks : 10
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Explain perpetual and temporary injunctions. Marks : 10
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Rama is the owner of a building. Shama diposesses Rama

from this building by force. Advise Rama. Marks : 6
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B, being a medical advisor, threatens to publish patient C's

written communications that are with him showing that C

has led an immoral life. What course of action would you

advise to C ? Explain. Marks : 6
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First Semester 3 Year LL.B. Examination, December 2018
CONTRACT -1
(2018 Batch)

Duration : 3 Hours Max. Marks :

Instructions : 1) Answer all five units.

2) One essay type question and short note/problem is
compulsory from each Unit.

3) Figures to the right indicate marks.

4) Answer should be written either in English or Kannada
completely.

UNIT = |

Q. No. 1. a) Define Proposal. Explain the circumstances under
which it lapses. Marks :
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Q. No. 1. a) An agreement without consideration is void. Discuss.
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Q.No. 1. b) Solve the following problem :
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Nataraj posts his letter of proposal to sell his house to Lingaraj
on 16" March 18. Lingaraj receives this letter of proposal on
18" March 18. On the same day, Lingaraj posts his letter of
acceptance. Thereafter Lingaraj sends a telegram revoking
his acceptance on 19" March 18. Nataraj receives Lingaraj's
acceptance letter on 19" March 18 and telegram on 20"
March 18. Is there a contract between Nataraj and Lingaraj ?
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Q. No. 1. b) Ganesh goes to a departmental store and picks an article
with price tag. When he goes to the cash counter to pay
the price, the shopkeeper refuses to sell the article. Ganesh
sues the shopkeeper for breach of contract. Can he
do so ?
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Discuss the effects of minor’s agreement.
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Define fraud. Distinguish it from misrepresentation.
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Solve the following problem.
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Amit promises to obtain for Amar an employment in the
National School. Amar promises to pay Rs. 5 lakhs to Amit.
Is this agreement valid ?
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A agrees to pay B one lakh rupees, if B will marry A’s
daughter C. C was dead at the time of the agreement.
Decide.
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Marks : 6

Marks : 10

Marks : 10

Marks : 6
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Q. No. 3. a) Discuss doctrine of frustration with the help of leading
Marks : 10
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What is breach of contract ? Distinguish between
actual breach and anticipatory breach of contract. Marks : 10
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Q. No. 3. b) Solve the following problem : Marks : 6
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A Kala Bhavan was agreed to be let out on a certain day.
Before that day, it was destroyed by fire. Discuss the
consequences.
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Ajit agreed to deliver the goods to Avinash for certain price on
13-11-2018 without fail. Time is essence of the contract. Ajit
fails to deliver the goods on 13-11-2018. Avinash rescinds
the contract and files a suit to recover damages. Decide.  Marks : 6
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UNIT = IV
Explain general damages and special damages with the
help of decided cases. Marks :
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Q. No. 4. a) What is Quasi-contract ? Explain the different types of
Ouasi-contracts. Marks : 10

Write short note on :
bﬁ::iz“} Blolowe el
Liquidated damages and penalty. Marks : 6
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Nominal damages.
RO (VnZ) FoTT TS

UNIT =V

Explain what contracts can be specifically enforced. Marks : 10
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Explain the circumstances in which courts cannot
grant injunction. Marks : 10
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Q. No. 5. b) Write short note on : Marks : 6
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Declaratory Decree
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OR

Recovery of possession of immovable property. Marks : 6
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